Problems Involving
Scaling Worksheet

Scale the information you have been given up or down to find
the answer to each question.
1. Eggs cost 90p for 6. How much would 36 eggs cost?

2. The length of a toy car is 3cm. Tony wants to make a
drawing which is 17 times bigger. How long will the car be
in his drawing?
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Multiplying Two-Digit
Numbers by One-Digit
Numbers Answers

1. 24 2. 22 3. 18 4, 26

x 4 x 5 x 5 x 3

5. 12 6. 48 7. 41 8. 31

x 5 x 2 x 0O x 7

9. 44 10. 32 M. 62 12 66

x 7 x 7 x 3 x 4

13. 82 14, 87 15. 94  16. 53
x 4 x 8 x 8 x 8

17. 85 18. 75 19 68 20. 78
x 4 x 3 x 6 x 7
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